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Live Leak – IBPS PO Mains 2016 

Model Question Paper based on 

Predicted Pattern 
 

Reasoning Ability 

1. Starting from my home I went 2 kms straight and then turned to my right and 

covered a distance of 1 km. I once again turned to my right and covered a further 

distance of 1 km. If I was to the North West of my home, then in which direction 

have I started from my home? 

1. East 

2. North – West 

3. West 

4. North 

5. South 

 

Comprehension Starts 

Directions: Read the following information carefully and answer the questions 

given below: 

Badal, Dinu, Pankaj, Manoj, Faizan, Hitesh, Komal and Vicky are eight friends who 

have completed their MBA programme with specialization – Marketing, Personnel, 

Operations, Systems and Finance. Three of them have passed with dual 

specializations. Two of them are having systems specialization. Operations and 

Systems were not offered as dual specialization with any of the remaining three 

specializations. Badal is third from the top when they are arranged in descending 

order of earning. Badal has passed with Operations and earns more than Faizan, 

Dinu and Komal. Vicky has passed with Personnel and earns less than only Manoj 

who has passed with a dual specialization. Pankaj has passed with Marketing and 

Finance and earns the least. Dinu earns more than Komal but less than Faizan. No 

two of them have same earning. Komal who earns more than Hitesh has passed with 

Marketing whereas Hitesh has passed with dual specialization of Personnel and 

Finance. None of these has the same set of dual specialization. 

 

2. Who among them earn more than Faizan? 

1. Only Manoj and Vicky 



 

2 | P a g e  

 

2. Only Manoj and Badal 

3. Only Vicky, Badal and Dinu 

4. Only Manoj, Vicky and Dinu 

5. None of these 

 

3. Who among them earns just more than only Pankaj? 

1. Manoj 

2. Vicky 

3. Hitesh 

4. Data inadequate 

5. None of these 

 

4. Which of the following specializations is opted for most among them as either 

single or one of the dual specializations? 

1. Systems 

2. Finance 

3. Personnel 

4. Marketing 

5. Both Personnel and Marketing 

 

5. Which of the following pairs has the Systems specializations? 

1. Badal & Faizan 

2. Badal & Manoj 

3. Faizan & Hitesh 

4. Data inadequate 

5. None of these 

Comprehension ends 

 

Comprehension starts 

Directions: In a certain coding system, 

A & B means A is not smaller than B, 

A % B means A is neither smaller nor equal to B, 

A @ B means A is not greater than B, 

A $ B means A is neither greater nor equal to B, 

A * B means A is neither smaller than nor greater than B. 
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Based on the information provided above, answer the following questions. 

 

6. Statements: U @ O * K, Q & R * U, M % O 

Conclusions: 

a) O % Q 

b) K $ M 

1. Only a follows 

2. Only b follows 

3. Either a or b follows 

4. Neither a nor b follows 

5. Both a and b follow 

 

7. Statements: K $ S @ T, K % O, T * D 

Conclusions: 

a) T % O  

b) D & S 

1. Only a follows 

2. Only b follows 

3. Either a or b follows 

4. Neither a nor b follows 

5. Both a and b follow 

 

8. Statements: P % F * G & W, F $ R $ U 

Conclusions: 

a) W $ U 

b) P % R 

1. Only a follows 

2. Only b follows 

3. Either a or b follows 

4. Neither a nor b follows 

5. Both a and b follow 
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9. Statements: A * V, A % C & D, M @ C 

Conclusions: 

a) V * C 

b) D % M 

1. Only a follows 

2. Only b follows 

3. Either a or b follows 

4. Neither a nor b follows 

5. Both a and b follow 

 

10. Statements: E $ P * W, Q % R * E, M & P 

Conclusions: 

a) P % Q 

b) W $ M 

1. Only a follows 

2. Only b follows 

3. Either a or b follows 

4. Neither a nor b follows 

5. Both a and b follow 

Comprehension ends 

 

11. Directions: In the question below are given four statements followed by four 

conclusions numbered I, II, III and IV. You have to take the given statements to 

be true even if they seem to be at variance with commonly known facts. Read all 

the conclusions and then decide which of the given conclusions logically follows 

from the given statements disregarding commonly known facts. 

Statements: 

Some forks are spoons. 

Some spoons are bowls. 

Some bowls are plates. 

All plates are utensils. 

Conclusions: 
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I. Some utensils are forks. 

II. Some plates are forks. 

III. Some plates are spoons. 

IV. Some utensils are spoons. 

1. Only I follows 

2. Only II follows 

3. Only I & III follow 

4. None follows 

5. None of these 

 

12. Directions: In the question below are given four statements followed by four 

conclusions numbered I, II, III and IV. You have to take the given statements to 

be true even if they seem to be at variance with commonly known facts. Read all 

the conclusions and then decide which of the given conclusions logically follows 

from the given statements disregarding commonly known facts. 

Statements: 

Some grapes are bananas. 

Some bananas are guavas. 

All bananas are apples. 

No guava is pomegranates. 

Conclusions: 

I. No grapes are pomegranates. 

II. Some guavas are grapes. 

III. Some guavas are apples. 

IV. No bananas are pomegranates. 

1. Only II follows 

2. Only III follows 

3. Either I or III follows 

4. Both III & IV follow 

5. None of these 
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13. Directions: In the following question, three statements are given followed by 

four conclusions I, II, III and IV. You have to consider the given statements to be 

true even, if they seem to be at variance with commonly known facts. Read all the 

conclusions and decide which of the following logically follows from the given 

statements disregarding the commonly known facts. 

Statements: 

All pillows are beds. 

No fruit is pillow. 

Some foods are fruits. 

Conclusions: 

I. At least some foods are pillows. 

II. All beds being foods is a possibility. 

III. All fruits are foods. 

IV. Some beds are definitely fruits. 

1. All follow 

2. None follows 

3. II follows 

4. III and IV follow 

5. I and III follow 

 

14. Directions: In the question below are three statements followed by four 

conclusions numbered I, II, III and IV. You have to take the given statements to 

be true even if they seem to be at variance from commonly known facts and then 

decide which of the given conclusions logically follows from the given statements 

disregarding commonly known facts. 

Statements: 

Some mobiles are touch screens. 

All touch screens are smart. 

No smart are televisions. 

Conclusions: 

I. No touch screens are televisions. 

II. Some mobiles are not televisions. 
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III. Some mobiles are smart. 

IV. Some smart are not televisions. 

1. All follow 

2. I, II and III follow 

3. II, III and IV follow 

4. I, III and IV follow 

5. None of these 

 

15. Directions: In the question below are three statements followed by four 

conclusions numbered I, II, III and IV. You have to take the given statements to 

be true even if they seem to be at variance from commonly known facts and then 

decide which of the given conclusions logically follows from the given statements 

disregarding commonly known facts. 

Statements: 

Some headphones are earphones. 

All earphones are telephones. 

No telephones are televisions. 

Conclusions: 

I. No earphones are televisions. 

II. Some headphones are not televisions. 

III. Some headphones are telephones. 

IV. Some telephones are not televisions. 

1. All follow 

2. I, II and III follow 

3. II, III and IV follow 

4. I, III and IV follow 

5. None of these 

 

Comprehension starts 

Directions: Study the following information carefully and answer the questions 

given below. 

A word and number arrangement machine when given an input line of words and 

numbers rearranges them following a particular rule in each step. The following is an 
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illustration of the input and various steps of rearrangement. (All the numbers are two 

digit numbers). 

Input: 11 day 34 night 93 pace 27 easy 44 joy 

Step I: 93 11 day 34 night pace 27 easy 44 joy 

Step II: 93 11 34 night pace 27 easy 44 joy day 

Step III: 93 44 11 34 night pace 27 easy joy day 

Step IV: 93 44 11 34 night pace 27 joy day easy 

Step V: 93 44 34 11 night pace 27 joy day easy 

Step VI: 93 44 34 11 night pace 27 day easy joy 

Step VII: 93 44 34 27 11 night pace day easy joy 

Step VIII: 93 44 34 27 11 pace day easy joy night 

Step IX: 93 44 34 27 11 day easy joy night pace 

Step IX is the last step of the rearrangement as the desired arrangement is obtained. 

As per rules followed in the above steps, find out in each of the questions the 

appropriate step for the given input. 

Input for the question: class 25 war 15 race 73 heap 58 just 88 take 38 

 

16. What is the position of ‘war’ in Step ‘VII’? 

1. Seventh from the left end 

2. Eighth from the right end 

3. Fifth from the left end 

4. Fifth from the right end 

5. Sixth from the left end 

 

17. What is the position of ‘15’ in Step ‘IX’? 

1. Seventh from the left end 

2. Eighth from the left end 

3. Fifth from the right end 

4. Seventh from the right end 

5. Eighth from the right end 

 

18. How many steps are required to complete this arrangement? 

1. Eleven 



 
 

9 | P a g e  

 

2. Twelve 

3. Ten 

4. Nine 

5. None of these 

 

19. Which of the following represents the Step X? 

1. 88 73 58 38 25 war 15 race take class heap just 

2. 88 73 58 38 25 15 class heap just race take war 

3. 88 73 58 38 25 15 war class heap just race take 

4. 88 73 58 38 25 15 war take class heap just race 

5. There is no such Step 

 

20. Which of the following is the ninth from the right in Step VI? 

1. race 

2. 25 

3. war 

4. 58 

5. 15 

Comprehension ends 

 

Comprehension starts 

Directions: Study the following information carefully and answer the questions 

given below. 

Eight persons – Rajan, Mahesh, Naresh, Omkar, Pavan, Rupesh, Ankit and Shantanu 

– sitting around a circular area at equal distance from one another, but not 

necessarily in the same order. Some of them are facing the center while some others 

are facing outside (i.e., in a direction just opposite to the center). 

Shantanu is sitting fourth to the left of Pavan, Omkar is sitting second to the right of 

Shantanu. Shantanu faces outside. Rajan is sitting third to the right of Ankit. Ankit is 

not an immediate neighbor of Pavan. Both the immediate neighbors of Rupesh face 

towards the center. Both the immediate neighbors of Mahesh face opposite 

directions (i.e., if one person faces towards the center, the other person faces 

outside). Both the immediate neighbors of Shantanu face the same direction as that 

of Omkar (i.e., if Omkar faces towards the center, then both the immediate neighbors 

of Shantanu also face towards the center and vice versa). Both the immediate 

neighbors of Pavan face the just opposite direction of Pavan (i.e., If Pavan faces 

towards the center, both the immediate neighbors of Pavan face outside and vice-
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versa). Naresh is immediate neighbor of Ankit. Rajan is facing inside and Naresh is 

facing the same direction as that of Omkar. 

 

21. Which of the following statements is/are true regarding Naresh as per the given 

seating arrangement? 

1. Naresh is sitting to the immediate right of Mahesh. 

2. Naresh faces outside. 

3. Only two persons are sitting between Naresh and Rupesh. 

4. Rajan is sitting second to the right of Naresh. 

5. Shantanu is one of the immediate neighbors of Naresh. 

 

22. Who among the following is sitting to the immediate left of Pavan? 

1. Ankit 

2. Mahesh 

3. Omkar 

4. Shantanu 

5. Rupesh 

 

23. How many persons are facing outside? 

1. One 

2. Three 

3. Five 

4. Four 

5. Two 

 

24. What is the position of Ankit with respect to Omkar in the given sitting 

arrangement? 

1. Fourth to the left 

2. Third to the right 

3. Fifth to the left 

4. Second to the left 

5. Third to the left 

 

25. Four of the following five are alike in a certain way on the basis of given sitting 

arrangement and hence form a group. Which one of the following does not belong 

to that group? 

1. Naresh 

2. Omkar 
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3. Ankit 

4. Pavan 

5. Rajan 

Comprehension ends 

 

Comprehension starts 

Directions: Study the following information carefully to answer the given 

questions: 

Eight persons from different PSU viz. DRDO, ONGC, BPCL, GAIL, HPCL, BARC, 

BHEL and NTPC are sitting in two parallel rows containing four people each, in such 

a way that there is an equal distance between adjacent persons. In row 1: A, B, C and 

D are seated and all of them are facing south. In row 2: P, Q, R and S are seated and 

all of them are facing north. Therefore, in the given seating arrangements each 

member seated in a row faces another member of the other row. (All the information 

given above does not necessarily represent the order of seating as in the final 

arrangement). 

 C sits second to right of the person from NTPC. R is an immediate neighbor of the 

person who faces the person from NTPC. 

 Only one person sits between R and the person for GAIL. Immediate neighbour of 

the person from GAIL faces the person from BPCL. 

 The person from DRDO faces the person from BARC. R is not from BARC. P is 

not from GAIL. P does not face the person form NTPC 

 Q faces the person from HPCL. The one who faces S sits to the immediate left of 

A. 

 B does not sit at any of the extreme ends of the line. The person from NTPC does 

not face the person from ONGC. 

 

26. Which of the following is true regarding A? 

1. The person from DRDO faces A. 

2. The person from NTPC is an immediate neighbor of A. 

3. A faces the Person who sits second to right of R. 

4. A is from BARC. 

5. A sits at one of the extreme ends of the line. 

 

27. Who is seated between R and the person from GAIL? 
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1. The person from BARC 

2. P 

3. Q 

4. The person from ONGC 

5. S 

 

28. Who amongst the following sit at extreme ends of the rows? 

1. D and the person from GAIL 

2. The person from BHEL and DRDO 

3. The person from HPCL and P 

4. The person form ONGC and D. 

5. C, Q 

 

29. P is related to HPCL in the same way as B is related to GAIL based on the given 

arrangement. To who amongst the following is D related to following the same 

pattern? 

1. ONGC 

2. BPCL 

3. NTPC 

4. BHEL 

5. BARC 

 

30. Four of the following five are alike in a certain way based on the given seating 

arrangement and thus from a group, which is the one that does not belong to that 

group? 

1. BPCL 

2. R 

3. ONGC 

4. Q 

5. BARC 

Comprehension ends 

 

Comprehension Starts 

Directions: Study the following information to answer the given question: 

Six plays A, B, C, D, E and F are to be staged staring from Sunday and ending on 

Saturday with one of the days being an off day, not necessarily in the same order. 
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Each of the plays has different time duration: ½ hour, 1 hour, 1½ hours, 2 hours, 2½ 

hours and 3 hours, again not necessarily in the same order. 

Saturday is not an off day and a play of ½ hour duration is staged on that day. Play A 

is staged immediately before play E. There are two plays staged between Play F which 

is for 3 hours and play C which is for 1½ hours. The off day is after the staging of play 

E and there are two days between the offday and play A. Play D which is for 2 hours 

is not staged on Sunday. The play staged immediately before the off day is of 3 hours. 

Play A is for less than 2½ hours. 

 

31. How many plays are staged before the off day? 

1. Two 

2. One 

3. Five 

4. Three 

5. None of these 

 

32. What is the time duration of Play B? 

1. 2½ hours 

2. 2 hours 

3. 1 hour 

4. ½ hour 

5. None of these 

 

33. Which day is the off day? 

1. Monday 

2. Sunday 

3. Thursday 

4. Friday 

5. Cannot be determined 

 

34. Which if the following combinations of Play – Day – Time Duration is correct? 

1. E – Tuesday – 2 hours 

2. A – Monday – 1 hour 

3. C – Wednesday – 1½ hours 

4. F – Monday – 3 hours 

5. None is correct 
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35. On which day is play D staged? 

1. Tuesday 

2. Friday 

3. Monday 

4. Thursday 

5. Cannot be determined 

Comprehension Ends 

 

Comprehension Starts 

Directions: Study the following information carefully and answer the questions 

given below: 

P, Q, R, S, T, V and W are seven members of a family. Each one of them has a 

different profession – Professor, Fashion designer, Dentist, Civil engineer, Data 

analyst, Programmer and Nurse and their incomes are different. There are two 

married couples in the group. 

V is not the Programmer and earns more than W. T is married to the Civil engineer 

and she earns the least. R is the Fashion designer and earns more than the Dentist 

and the Programmer. W is married to Q and he earns more than S and P. The Civil 

engineer earns less than Programmers but more than the Nurse. No lady is either 

Programmer or Dentist. Q, the Data analyst, earns less than P – the Nurse. 

 

36. Who earns the maximum in the family? 

1. V 

2. W 

3. R 

4. S 

5. None of these 

 

37. Which of the following is pair of married couple? 

1. RT 

2. VT 

3. QT 

4. ST 

5. None of these 

 

38. What is P’s position from the top when they are arranged in descending order of 

their income? 
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1. Second 

2. Fourth 

3. Third 

4. Fifth 

5. None of these 

 

39. What is the profession of S? 

1. Dentist 

2. Civil engineer 

3. Dentist or Civil engineer 

4. Data inadequate 

5. None of these 

 

40. At least how many male members are there in the family? 

1. Two 

2. Three 

3. Four 

4. Five 

5. None of these 

Comprehension Ends 

 

41. Below a question is given with two statements (I) and (II). These statements may 

be either independent causes or may be effects of independent causes or a 

common cause. One of these statements may be the effect of the other statement. 

Read both the statements and decide which of the following answer choice 

correctly depicts the relationship between these two statements. 

I. There is increasing awareness about healthy food. 

II. Importance of yoga has increased. 

1. Statement (I) is the cause and statement (II) is the effect. 

2. Statement (II) is the cause and statement (I) is the effect. 

3. Both the statements (I) and (II) are independent causes. 

4. Both the statements (I) and (II) are effects of independent causes. 

5. Both the statements (I) and (II) are effects of some common cause. 

 

42. Below a question is given with two statements (I) and (II). These statements may 

be either independent causes or may be effects of independent causes or a 
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common cause. One of these statements may be the effect of the other statement. 

Read both the statements and decide which of the following answer choice 

correctly depicts the relationship between these two statements. 

I. The staff at the bank went on a strike anticipating a threat to their job. 

II. The staff at the bank called off the strike that they were observing. 

1. Statement (I) is the cause and statement (II) is the effect. 

2. Statement (II) is the cause and statement (I) is the effect. 

3. Both the statements (I) and (II) are independent causes. 

4. Both the statements (I) and (II) are effects of independent causes. 

5. Both the statements (I) and (II) are effects of some common cause. 

 

43. Below a question is given with two statements (I) and (II). These statements may 

be either independent causes or may be effects of independent causes or a 

common cause. One of these statements may be the effect of the other statement. 

Read both the statements and decide which of the following answer choice 

correctly depicts the relationship between these two statements. 

I. Aamir’s movie has crossed the 100 crore mark. 

II. His movie has been nominated for the Oscars. 

1. Statement (I) is the cause and statement (II) is the effect. 

2. Statement (II) is the cause and statement (I) is the effect. 

3. Both the statements (I) and (II) are independent causes. 

4. Both the statements (I) and (II) are effects of independent causes. 

5. Both the statements (I) and (II) are effects of some common cause. 

 

44. Direction: Each of the following questions consists of a statement followed by 

two arguments I and II. In making decision about important questions, it is 

desirable to be able to distinguish between ‘strong’ arguments and ‘weak’ 

arguments. ‘Strong’ arguments are those which are both important and directly 

related to the question. ‘Weak’ arguments are those which are of minor 

importance and also may not be directly related to the question or may be related 

to a trivial aspects of the question. Analyze first the statement then the arguments 

in context of the statement and finally decide which of the arguments hold(s) 

strong and help(s) formulate the most appropriate opinion on the subject. 

Statement: Should system of offering jobs only to the wards of government 

employees be introduced in all government offices in India? 

Arguments: 
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I. No. It denies opportunities to many deserving individuals and government may 

stand to lose in the long run. 

II. No. It is against the principle of equality. Does the government not owe its 

responsibility to all its citizens? 

1. Only argument I is strong 

2. Only argument II is strong 

3. Either I or II is strong 

4. Neither I nor II is strong 

5. Both I and II are strong 

 

45. Directions: 

In the question below is given a statement followed by two courses of action 

numbered I and II. You have to assume everything in the statement to be true and on 

the basis of the information given in the statement, decide which of the suggested 

course of action logically follow(s) for pursuing. 

Statement: 

The Librarian finds some cases in which the pages from certain books issued from 

the library, are torn. 

Course of action:  

I) The Librarian should keep a record of books issued to each student, and if the 

pages are found torn, strict measures should be taken against the child who had been 

issued that book. 

II) Some funds should be collected from the children collectively to renovate the 

library. 

1. Only I follows 

2. Only II follows 

3. Either I or II follows 

4. Neither I nor II follows 

5. Both I and II follow 

 

46. Directions: In the question below is given a statement followed by two courses 

of action numbered I and II. You have to assume everything in the statement to 

be true and on the basis of the information given in the statement, decide which 

of the suggested course of action logically follow(s) for pursuing. 

Statement: 
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The ground water in the locality has been found to contain high level of arsenic 

making it dangerous to drink. 

Course of action:  

I) The people living in the area should be shifted to another area to avoid a 

catastrophic situation. 

II) The government should make arrangements for supply of safe drinking water. 

1. Only I follows 

2. Only II follows 

3. Either I or II follows 

4. Neither I nor II follows 

5. Both I and II follow 

 

47. Directions: In the question below is given a statement followed by two 

assumptions numbered I and II. An assumption is something supposed or taken 

for granted. You have to consider the statement and the following assumptions 

and decide which of the assumptions is implicit in the statement. 

Statement: It is desirable to go to college at the age of 18 or so. 

Assumptions: 

I. Age 18 is ideal age to imbibe knowledge gained in college. 

II. Colleges do not allow students above 18 years of age. 

1. Only assumption I is implicit. 

2. Only assumption II is implicit. 

3. Either assumption I or II is implicit. 

4. Neither assumption I nor II is implicit. 

5. Both the assumptions I and II are implicit. 

 

48. In a survey conducted among workers in America, it was found that the number 

of unemployed skilled workers was equal to that of unemployed unskilled 

workers. Thus it was concluded by those who undertook the survey that, in 

America, being skilled does not enhance the probability of securing employment. 

Which of the following would be necessary to validate the conclusion given above? 

1. The relative figures of unemployed, skilled and unskilled workers in other 

developed nations is similar to America. 

2. The number of jobs that actually require skilled workers. 
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3. The proportion of unemployed skilled and unskilled workers to the total 

number of skilled and unskilled workers respectively. 

4. The number of skilled workers in the employable age among those surveyed. 

5. The number of skilled workers compared to the skilled workers in other 

developed nations. 

 

49. Direction: Each of the following questions consists of a statement followed by 

two arguments I and II. In making decision about important questions, it is 

desirable to be able to distinguish between ‘strong’ arguments and ‘weak’ 

arguments. ‘Strong’ arguments are those which are both important and directly 

related to the question. ‘Weak’ arguments are those which are of minor 

importance and also may not be directly related to the question or may be related 

to a trivial aspects of the question. Analyze first the statement then the arguments 

in context of the statement and finally decide which of the arguments hold(s) 

strong and help(s) formulate the most appropriate opinion on the subject. 

Statement: Should India support all the international policies of United States of 

America? 

Arguments: 

I. No. Many other powerful countries do not support the same. 

II. Yes. This the only way to gain access to USA developmental funds. 

1. Only argument I is strong 

2. Only argument II is strong 

3. Either I or II is strong 

4. Neither I nor II is strong 

5. Both I and II are strong 

 

50. Directions: In the question below a statement followed by two assumptions 

numbered I and II has been given. An assumption is something supposed or 

taken for granted. You are required to consider the statement and the following 

assumptions and decide which of the assumptions and decide which of the 

assumptions is implicit in the statement. 

Statement: Of all the television sets in India, television sets of ‘Solar’ brand find a 

ready sale. 

Assumptions: 

I. Volume of sale of all the television sets manufactured in India is known. 
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II. Number of other television sets manufactured in India is less than that of ‘Solar’ 

television sets. 

1. Only assumption I is implicit  

2. Only assumption II is implicit 

3. Either assumption I or assumption II is implicit 

4. Neither assumption I nor assumptions are implicit 

5. Both the assumptions are implicit 

 

English Language 

Comprehension Starts 

Directions: Read the passage given below and then answer the questions 

given below the passage. Some words may be highlighted for your 

attention. Pay careful attention. 

During the last two years, various initiatives taken by the government have helped 

the country become the fastest growing major economy. While creation of physical 

infrastructure has featured prominently in the entire scheme of things, the banks, 

especially the public sector banks (PSBs)—main source of debt for infrastructure 

projects— are reeling under stressed assets and, thus, are severely constrained in 

terms of taking fresh exposure in infrastructure projects. Until and unless the PSBs 

are de-stressed, this can become a major stumbling block for the economy. The 

concept of creating big banks through mergers to reap economies of scale has been in 

circulation for quite some time. Certain quarters perceive such a move to enhance 

the capital efficiency of the merged entity, rationalise the cost of operation, improve 

recovery of NPAs and also allow better bargaining power in terms of raising capital 

from external markets. At the first edition of Gyan Sangam, the bankers’ retreat 

organised by ministry of finance, in January 2015, the government officials floated 

the idea of bank consolidation which banking chiefs turned down unanimously. 

However, at the second Gyan Sangam held in March this year, the discussion was no 

longer on the need for consolidation, but on how to consolidate. Government made 

its intent clear for PSB mergers which have been followed up with the approval of 

merging six PSBs with SBI. A move like that will certainly push up the global ranking 

of SBI among the largest banks of the world. But will it augur well for India? Did we 

act in haste in a matter of national importance? The government would have done 

well to wait for some more time and indulge in more research before going ahead 

with such a decision. What seems to have been inadvertently overlooked is how the 

creation of bigger players can adversely impact the service delivery and take the focus 

away from the customers, especially the medium, small and micro customers. 

Experience from the banking sector shows that the bigger a bank becomes, its 

processes become more mechanical and it is the connect with the customer that gets 

neglected. It is for this very reason that entities like NBFCs and MFIs exist as 
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commercial banking leaves a huge void and is unable to cater to the credit needs of 

the vast multitudes. 

In this context, it is worth appreciating the difference in nature of the banking 

sectors in Europe and the US. Europe has mostly large banks and thus, when the 

banking sector faced a systemic crisis, economic growth plunged as credit 

intermediation suffered largely. On the contrary, in the US, many small banks and 

non-banks exist alongside the big banks. As a result, even when the big banks 

suffered during the global financial crisis, the US economy did not come to a 

standstill as the smaller banks carried on with their job. Thus, US has been able to 

cope with the crisis better than Europe. In India, too, although the commercial 

banking sector’s ability to lend has got constrained, its adverse impact on the 

economy is getting cushioned by the NBFCs and MFIs. 

PM’s call for promoting entrepreneurship is spot on as that holds the key towards 

unlocking India’s true potential, creating new employment and generating wealth. 

Not all entrepreneurial ventures are urban start-ups. Majority of such ventures are 

from the grassroots level at the villages and non-urban centers. More than just funds, 

these entrepreneurs need mentoring and hand-holding. To enable that, nurturing a 

human interface in our banking system is imperative. The bigger a bank becomes, 

the greater is the tendency to leverage technology to automate processes. Therefore, 

the decision to create fewer but larger PSBs can do a major disservice to the cause of 

promoting entrepreneurship. This is something we simply cannot afford at this 

juncture when our economy is poised for a take-off. It is also worth noting that 

private banks will not be too keen to cater to the credit needs of entrepreneurs. It is 

the PSBs which will need to take the lead on this front. 

 

51. Which of the following is a major economic roadblock of the country? 

1. The mechanical methods of the bigger banks. 

2. The lack of contacts of the middle class with the bigger banks. 

3. The debility of the public sector banks to undertake new infrastructure 

projects. 

4. The debt of the smaller banks which has faltered the economy of the country. 

5. The dependence of the masses on the smaller banks. 

 

52. Which of the following is not a benefit of establishing bigger banks through 

mergers? 

1. Enhancing the capital efficiency of the merged entity. 

2. Enhancement of the power and position of the bank in the global market. 

3. Having a rational cost of operation. 

4. Improving recovery of NPAs. 
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5. A better bargaining power in terms of raising capital from external markets 

 

53. Which among the following do you think is more relevant in case of bigger banks? 

1. Their positive impacts are more as it enhances the capital efficiency of the 

merged entity. 

2. Their negative impacts are more as the processes are more irrelevant. 

3. Their negative and positive impacts cannot be determined as they are two 

sides of the same coin. 

4. Their positive impacts are more as it stabilizes the economy and rationalizes 

the investments. 

5. Their negative impacts are more as the masses get neglected by the bigger 

banks, thus degrading the country’s overall economy. 

 

54. Which word among the following is the most suitable synonym for the word 

‘reeling’ in the context of the passage? 

1. Advancing 

2. Lagging behind 

3. Hindering 

4. Progressing 

5. Aiming 

 

55. Which of the following can be inferred from the given passage? 

1. Bigger banks should be made more technologically advanced. 

2. Bigger banks should not be formed as they have a number of disadvantages. 

3. Smaller banks are always there to maintain the economy of the country when 

the big ones suffer from losses. 

4. The smaller banks should be united to have a constantly growing economy. 

5. Technology should be totally removed from the banks to enhance 

entrepreneurship in India. 

 

56. What do you understand by the term ‘floated the idea’ in the context of the 

passage? 

1. Legal steps were taken to implement the idea. 

2. Discussions were going on to implement the idea. 

3. Proposals were made to implement the idea. 

4. Disagreements were expressed against the idea. 

5. Voting was taken for the opinion of the idea. 
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57. How can entrepreneurship be accelerated in India? 

1. By unlocking India’s true potential, creating new employment and generating 

wealth. 

2. The village and the non-urban centers should be funded more. 

3. Proper health facilities should be provided to the residents of the villages. 

4. Activating a proper human interface sector in the banks. 

5. Technology should be restricted in the bigger banks to enable the masses to 

interact. 

 

58. Which word among the following is the most suitable antonym for the word 

‘inadvertently’ in the context of the passage? 

1. Deliberately 

2. Accidentally 

3. Mistakenly 

4. Hopefully 

5. Unintentionally 

 

59. Which word among the following is the most suitable synonym for the word 

‘augur’ in the context of the passage? 

1. Progress 

2. Portend 

3. See 

4. Comprehend 

5. Result 

 

60. What does the word ‘cushioned’ mean in the context of the passage? 

1. Made soft 

2. Attracted 

3. Shielding 

4. Determined 

5. Distracted 

Comprehension Ends 

 

Comprehension Starts 

Directions: Read the following passage carefully and answer the 

questions given below it. Certain words/ phrases are printed in bold to 

help you to locate them while answering some of the questions. 
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Two decades after the first Earth Summit at Rio de Janeiro, significant progress has 

been made on the road to sustainability. But more fundamentally, today's world is a 

different place. The Rio+20 Summit takes place against a backdrop of a changing 

global powers, an international economic crisis, rising global population levels, 

increasing global resource use and, despite all the progress, an unacceptable level of 

poverty. The community of states thus bears an even greater responsibility to move 

to a new stage in our collective search for inclusiveness and sustainability. 

Today's economic crisis is not only a result of irresponsible behavior of some in the 

financial sector, coupled by lax regulatory oversight. It is also the result of deep-

seated imbalances that need to be corrected if we want to generate more sustainable 

growth. These are not only global economic imbalances, they are also imbalances in 

our ecological footprint. During the 20th century, global economic output multiplied 

forty-fold and standards of living rose enormously. But this came at a price and was 

based on an unsustainable use of scarce global resources, such as fuels, metals, 

minerals, timber, water, and ecosystems. By 2050 the world's population will have 

reached 9 billion, so the imperative to act together is undeniable. If we do not meet 

this challenge, we will need the equivalent of two planets to sustain us. 

At the G20 Summit in Mexico we discussed the need for stable economies and 

increased growth. Rio offers the world the opportunity to steer this growth towards 

an inclusive and sustainable path. We should not let escape this opportunity. 

The European Union is committed to achieving concrete outcomes from Rio. We 

have suggested goals and targets for key areas that underpin a green economy: water, 

the oceans, land and ecosystems, forests, sustainable energy, and 

resource efficiency. These goals are essential for sustainable growth. They are 

also inextricably linked to the issues of poverty eradication, social development, 

food security and nutrition. It is the poorest in our societies who will suffer most if 

we use our resources unsustainably. 

 

61. What is the scenario amidst which Rio+20 summit takes place? 

1. Frequent rise in natural gas prices. 

2. Increase in the availability of natural resource globally. 

3. Alteration in which countries are considered global powers.  

4. Economic crisis pertaining to developed countries. 

5. None of these. 

 

62. Which of the following comes closest in meaning to the phrase ‘against the 

backdrop of’ as given in the passage? 

1. With a scenery in the background. 

2. Contrary to the prevailing situation. 
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3. Condition(s) within which something happens. 

4. The future actions that will follow. 

5. None of these. 

 

63. What could be the reason for the economic crisis which the present day world has 

been facing? 

A. Lack of responsibility in the behavior of some in the financial sector. 

B. Inappropriate regulatory system and global economic balances. 

C. The apathy of politicians. 

1. Both A and B 

2. A only 

3. C only 

4. A and C 

5. None of these 

 

64. Which of the following comes closest in meaning to ‘imperative’ as given in the 

passage? 

1. Puzzle 

2. Burden 

3. Complexity 

4. Importance 

5. Retaliation 

 

65. What was discussed at the G20 summit in Mexico? 

1. The need for stable economics and increased growth. 

2. Opportunity to steer growth towards an inclusive and sustainable path. 

3. The vision and scope of Rio+20. 

4. The limitations of the Earth Summit. 

5. A forward vision encompassing centuries for the survival of human species. 

 

66. Choose the word/ group of words which is most opposite in meaning to ‘lax’ as 

used in the passage. 

1. Casual 

2. Stern 

3. Bias 

4. Negligent 

5. None of these 
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67. According to the author, which of these factors are needed for sustainable 

growth? 

1. Correction of deep-seated imbalances. 

2. Sustainable use of scarce global resources. 

3. Promotion of green economy. 

4. All of these. 

5. Both 1 and 2. 

 

68. Which of the following can replace the word ‘inextricably’ as given in the passage? 

1. Insanely 

2. Loosely 

3. Intricately 

4. Deliberately 

5. Largely 

 

69. How does the author connect the issue of environment and economy together? 

1. Economical activities take place on land, a part of ecosystem, hence the two 

are related. 

2. Environmental activities also require money, thus they are dependent on 

availability of capital. 

3. Growth of economy can provide enough funds to protect the environment. 

4. Sustainable growth is a key concept in economic growth. 

5. None of these 

 

70. Choose the word/ group of words which is most opposite in meaning to 

‘efficiency’ as used in the passage 

1. Ineffectiveness 

2. Efficacy 

3. Sufficient 

4. Crucial  

5. None of these 

Comprehension Ends 

 

Comprehension Starts 

Rearrange the following six sentences/ group of sentences (A), (B), (C), 

(D) (E) and (F) in the proper sequence to form a meaningful paragraph; 

then answer the questions given below them. 
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A. There are so many provinces/states within their own country to think about. 

B. The only time a large country thinks of small country is in a negative context. 

C. People in large countries don't really think a lot about other countries. 

D. They will be a little more self-absorbed than people of smaller countries. 

E. Or maybe, when the small country’s rate of growth is more than theirs. 

F. Whenever their country is at a risk of being attacked by the smaller country.  

 

71. Which of the following should be the SECOND sentence after rearrangement? 

1. A 

2. B 

3. C 

4. D 

5. E 

 

72. Which of the following should be the THIRD sentence after rearrangement? 

1. B 

2. A 

3. F 

4. D 

5. E 

 

73. Which of the following should be the Fourth sentence after rearrangement? 

1. B 

2. D 

3. E 

4. F 

5. A 

 

74. Which of the following should be the LAST sentence after rearrangement? 

1. C 

2. B 

3. E 

4. F 

5. A  
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75. Which of the following should be the FIRST sentence after rearrangement? 

1. B 

2. C 

3. F 

4. D 

5. A 

Comprehension Ends 

 

Comprehension Starts 

Below a passage is given with five blanks labelled (A)-(E). Below the 

passage, five options are given for each blank. Choose the word that fits 

each blank most appropriately in the context of the passage, and mark 

the corresponding answer. 

When you sign up for a new health insurance policy, it doesn’t get implemented with 

___ (A) ___ effect. The policy comes into effect after a ‘waiting period’, which ___ 

(B) ___ on the kind of insurance and other factors, such as age, your medical history 

and the company. In other words, the insurer is liable to entertain any claim amount 

filed only ___(C) ___ this waiting period. If an individual undergoes an accident 

during the waiting period, the customer may not be covered for a loss. As mentioned 

before the ___ (D) ___ of waiting period exists across different kinds of policies, 

and the quantum of waiting period may ___ (E) ___ depending on the insurer. 

 

76. Which of the following words most appropriately fits the blank labelled (A)? 

1. Extra 

2. After 

3. Immediate 

4. Absolute 

5. Full 

 

77. Which of the following words most appropriately fits the blank labelled (B)? 

1. Relies 

2. Prefers 

3. Believes 

4. Depends 

5. Allows 

 

78. Which of the following words most appropriately fits the blank labelled (C)? 
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1. During 

2. After 

3. Before 

4. At 

5. Since 

 

79. Which of the following words most appropriately fits the blank labelled (D)? 

1. Idea 

2. Plan 

3. Act 

4. Concept 

5. Rule 

 

80. Which of the following words most appropriately fits the blank labelled (E)? 

1. Separate 

2. Difference 

3. Different 

4. Differ 

5. Diverse 

Comprehension Ends 

 

81. The following question consists of a single sentence with one blank 

only. You are given six words as answer choices and from the six 

choices you have to pick up two correct answers, either of which will 

make the sentence meaningfully complete. 

The right to cast your vote should not be a _______ based on wealth. 

 

A. Prerogative 

B. Privilege 

C. Allotment 

D. Plan 

E. Fragment 

F. Refusal 

1. B and C 

2. C and D 

3. D and E 

4. A and B 
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5. E and F 

 

82. The following question consists of a single sentence with one blank 

only. You are given six words as answer choices and from the six 

choices you have to pick up two correct answers, either of which will 

make the sentence meaningfully complete. 

The food spread at the wedding was so ______ that all the guests were surprised. 

A. Usual 

B. Ordinary 

C. Exotic 

D. Regular 

E. Eye-catching 

F. Bland 

1. A and B 

2. C and F 

3. C and E 

4. D and F 

5. B and D 

 

83. The following question consists of a single sentence with one blank 

only. You are given six words as answer choices and from the six 

choices you have to pick up two correct answers, either of which will 

make the sentence meaningfully complete. 

The food cooked by the new maid tasted so _____ that she decided that she would 

cook on her own. 

A. Boring 

B. Dull 

C. Bland 

D. Insipid 

E. Delicious 

F. Tasty 

1. A and B 

2. E and F 

3. C and D 

4. B and C 

5. D and A 
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84. The following question consists of a single sentence with one blank 

only. You are given six words as answer choices and from the six 

choices you have to pick up two correct answers, either of which will 

make the sentence meaningfully complete. 

The man called his assistant_________ when he could not locate the important 

file. 

A. Incessantly 

B. Continuously 

C. Eternally 

D. Loud 

E. Reckless 

F. Foolishly 

1. A and B 

2. B and C 

3. D and E 

4. F and B 

5. E and F 

 

85. The following question consists of a single sentence with one blank 

only. You are given six words as answer choices and from the six 

choices you have to pick up two correct answers, either of which will 

make the sentence meaningfully complete. 

The Bengal Famine was not a natural phenomenon, it was ________. 

A. Unnatural 

B. Creative 

C. Innovative 

D. Artificial 

E. Manmade 

F. Supernatural 

1. A and F 

2. D and E 

3. B and C 

4. E and F 

5. A and D 

 

86. Read the sentence to find out whether there is any error in it. The 

error, if any, will be in one part of the sentence. The number of that 
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part is the answer. If there is no error, the answer is (5). Ignore errors 

of punctuation, if any. 

Jayesh has become (1)/ fatter because he (2)/ does not (3)/ exercise at all. (4) No 

error (5). 

1. 1 

2. 2 

3. 3 

4. 4 

5. 5 

 

87. Read the sentence to find out whether there is any error in it. The 

error, if any, will be in one part of the sentence. The number of that 

part is the answer. If there is no error, the answer is (5). Ignore errors 

of punctuation, if any. 

Although (1)/ there is room for improvement,(2)/ but Kohli was satisfied(3)/ with 

how the team fared. (4)/ No error.(5) 

1. 1 

2. 2 

3. 3 

4. 4 

5. 5 

 

88. Read the sentence to find out whether there is any error in it. The 

error, if any, will be in one part of the sentence. The number of that 

part is the answer. If there is no error, the answer is (5). Ignore errors 

of punctuation, if any. 

Undaunted, mothers face the bullets (1)/ to protect their sons (2)/; such is the 

greatness (3)/ of mother’s love.(4)/ No error. (5) 

1. 1 

2. 2 

3. 3 

4. 4 

5. 5 

 

89. Read the sentence to find out whether there is any error in it. The 

error, if any, will be in one part of the sentence. The number of that 
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part is the answer. If there is no error, the answer is (5). Ignore errors 

of punctuation, if any. 

Over there (1)/ stands the New York Harbour (2)/ welcomed immigrants (3)/ and 

symbolizing the freedoms we value (4)./ No error (5). 

1. 1 

2. 2 

3. 3 

4. 4 

5. 5 

 

90. Read the sentence to find out whether there is any error in it. The 

error, if any, will be in one part of the sentence. The number of that 

part is the answer. If there is no error, the answer is (5). Ignore errors 

of punctuation, if any. 

His disappointing expression as he (1)/ looked down at her was so real (2)/ that for a 

moment after she woke up, (3)/ it was difficult to separate dream from reality.(4)/ 

No error (5) 

1. 1 

2. 2 

3. 3 

4. 4 

5. 5 

 

Quantitative Aptitude 

91. The distance between Rampur and Shyampur is 72 km. Ram from Shympur and 

Shyam from Rampur started walking towards each other at the same time. They 

met after 6 hours. After their meeting, Ram reduced his speed by 1 km/hr and 

Shyam increased his speed by 1 km/hr. Ram reached Rampur at the same time as 

Shyam reached Shympur. Find their initial speed : 

1. 7 km/hr and 5 km/hr 

2. 8 km/hr and 4 km/hr 

3. 7.5 km/hr and 4.5 km/hr 

4. 6.5 km/hr and 5.5 km/hr 

5. 9 km/hr and 3 km/hr 
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92. A contributes Rs. 5000 and B Rs. 2000 in a business. A is a sleeping partner and 

B gets 10% of the profit for management and the rest of the profit is divided in 

proportion of their capitals. If the profit of A is Rs. 900, what is the share of B? 

1. Rs. 442 

2. Rs. 400 

3. Rs. 460 

4. Rs. 450 

5. Rs. 500 

 

93. A cylindrical container whose diameter is 18 cm and height is 6 cm, is filled with 

ice cream. The whole ice-cream is distributed to 9 children in equal cones having 

hemispherical tops. If the height of the conical portion is twice the diameter of its 

base, find the diameter of the ice-cream cone. 

1. 6 cm 

2. 10 cm 

3. 3 cm 

4. 9 cm 

5. 2 cm 

 

94. 25 men can reap a field in 20 days. When should 15 men leave the work, if the 

field is to be reaped in 37 ½ days after they leave the work? 

1. 5 days 

2. 10 days 

3. 15 days 

4. None of these 

5. 7 days 

 

95. A part of Rs. 38,800 is lent out at 6% per six months at simple interest. The rest 

of the amount is lent out at 5% per annum simple interest after one year. The 

ratio of interest after 3 years from the time when first amount was lent out is 5 : 4. 

Find the second part that was lent out at 5%. 

1. Rs. 26,600 

2. Rs. 28,800 

3. Rs. 27,500 

4. Rs. 28,000 

5. Rs. 37,800 
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96. Direction: In the following questions, a question followed by two statements 

numbered I and II are given. You have to read both the statements and then give 

answer. 

What is the two-digit number? 

I. The difference between the two-digit number and the number formed by 

interchanging the digits is 54. 

II. The digit at unit’s place is less than at ten’s place by 6. 

1. Data given in statement A alone are sufficient to answer the question whereas 

the data given in statement B alone are not sufficient to answer the question 

2. Data given in statement B alone are sufficient to answer the question whereas 

the data given in statement A alone are not sufficient to answer the question 

3. Data in both the statements A alone or in statement B alone are sufficient to 

answer the question 

4. Data given in both the statement A and B are not sufficient to answer the 

question 

5. Data given in both the statement A and B are necessary to answer the question 

 

97. Directions: The question given below consists of a question and two statements 

marked A and B given below it. You have to decide whether the data provided in 

the statements are sufficient to answer the questions. Read both the statements 

and give answer 

What is the area of a right angled triangle? 

A. Base of the triangle is x cm. 

B. Height of the triangle is y cm. 

1. If the data in statement A alone is sufficient to answer the question 

2. If the data in statement B alone is sufficient to answer the question 

3. If the data either in statement A alone or in statement B alone is sufficient to 

answer the question 

4. If the data given in both statements A and B together are not sufficient to 

answer the question 

5. If the data in both statements A and B together are necessary to answer the 

question 

 

98. Directions: Below question is followed by two statements labelled I and II. 

Decide if these statements are sufficient to conclusively answer the question. 

Choose the appropriate answer from the options given below: 
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What is last two non-zero digits of nCr 

I. n = r + 2 

II. r = 25% of (30 - 40% of 25) 

1. Statement I alone is sufficient to answer the question. 

2. Statement II alone is sufficient to answer the question. 

3. Statement I and Statement II together are sufficient, but neither of the two 

alone is sufficient to answer the question. 

4. Either Statement I or Statement I alone is sufficient to answer the question. 

5. Neither Statement I nor Statement II is sufficient to answer the question. 

 

99. Direction: The given question consists of two statements (i) and (ii). You have to 

decide whether the provided statements are sufficient to answer the question. 

Read both the statements and choose the appropriate option. 

What is the length of the diagonal of a cuboid? 

Statements: 

i. The dimensions of a cuboid are in the ratio of 2 : 3 : 4 and the volume of the cuboid 

is 5184 m3. 

ii. Total surface area of cuboid is 2062 m2.  

1. The data in statement (ii) alone is sufficient to answer the question. While the 

data in statement (i) alone is not sufficient to answer the question. 

2. The data either in statement (i) alone or in statement (ii) alone is sufficient to 

answer the question. 

3. The data in statement (i) alone is sufficient to answer the question. While the 

data in statement (ii) alone is not sufficient to answer the question. 

4. The data in both statements (i) and (ii) together is necessary to answer the 

question. 

5. The data in both statements (i) and (ii) together is not sufficient to answer the 

question. 

 

100. Direction:- Below question is followed by two statements I and II. You have 

to determine whether the data given in the statements are sufficient for 

answering the question. You should use the data and your knowledge of 

Mathematics to choose between the possible answers. 

Is the sum of integers x and y greater than 59? 

I. The product of x and y is greater than 59. 
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II. One of the variable is greater than 59. 

1. The statement I alone is sufficient to answer the question but the statement II 

alone is not sufficient 

2. The statement II alone is sufficient to answer the question but the statement I 

alone is not sufficient 

3. Both statements I and II together are necessary to answer the question 

4. Either statement I alone or statement II alone is sufficient to answer the 

question 

5. You cannot get the answer from the statement I and II together but need even 

more data 

 

Comprehension starts 

Directions: Study the following bar diagram and table carefully to answer the 

questions: 

Number of employees working in five companies A, B, C, D and E 

 

Ratio of male to female employees 

Company Male : Female 

A 13 : 6 

B 4 : 3 

C 7 : 8 

D 9 : 11 
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E 23 : 12 

 

101. By what per cent is the number of total employees of Company C more than 

that of Company D? 

1. 12.5% 

2. 16.5% 

3. 21% 

4. 20% 

5. 16% 

 

102. What is the ratio of female employees working in companies D and E 

respectively? 

1. 17 : 22 

2. 22 : 17 

3. 15 : 22 

4. 22 : 15 

5. none of these 

 

103. What is the difference between number of male employees working in 

companies A and C together and number of female employees working in 

companies B and D together? 

1. 164 

2. 146 

3. 144 

4. 154 

5. 184 

 

104. What is the approximately average number of female employees, taking all 

the companies together? 

1. 340 

2. 315 

3. 335 

4. 325 

5. 321 

 

105. What is the number of male employees, taking all the companies together? 

1. 2,084 

2. 2,048 
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3. 2,064 

4. 2,046 

5. 2,066 

Comprehension Ends 

 

106. What will come in place of question mark in the following series? 

17, 18, 26, 53, 117, ?, 458 

1. 342 

2. 142 

3. 257 

4. 262 

5. 242 

 

107. What should come in place of the question mark (?) in the following number 

series? 

8 56 336 2352 14112 ?  

1. 98874 

2. 98784 

3. 87894 

4. 84672 

5. None of these 

 

108. Find the wrong term in the following number series? 

499 622 868 1237 1729 2346 3082 

1. 3082 

2. 868 

3. 1729 

4. 2346 

5. 499 

 

109. In each of the following questions one number is wrong in the series. Find out 

the wrong number. 

1, 3, 8, 19, 42, 88, 184 
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1. 3 

2. 88 

3. 19 

4. 42 

5. 8 

 

110. Find the wrong term in the following number series: 

8 31 123 485 1936 7739 

1. 7739 

2. 31 

3. 485 

4. 123 

5. 8 

 

Comprehension Starts 

Direction: Study the following graph carefully and answer the questions given 

below it: 

Profit earned by a company over the years (Profit in crore rupees) 

 

 



 
 

41 | P a g e  

 

111. What is the approximate per cent profit in the year 2002, if the income in 

that year was Rs. 120 crores? 

1. 51 

2. 47 

3. 63 

4. 85 

5. 71 

 

112. What is the approximately per cent increase in the profit in the year 2005 

from that in the previous year? 

1. 12 

2. 4 

3. 7 

4. 15 

5. 20 

 

113. If the income in the year 1999 was Rs. 60 crores and the expenditures in that 

year equals the expenditures in the year 2001, what was the income of the 

company in crore rupees in the year 2001? 

1. 75 

2. 60 

3. 55 

4. 65 

5. None of these 

 

114. If the expenditure in the year 2003 was Rs. 60 crores, how much was the 

income in crore rupees? 

1. 110 

2. 115 

3. 120 

4. 90 

5. None of these 

 

115. In which year is the per cent increase in the profit from that in the previous 

year the highest? 

1. 1998 

2. 2000 

3. 2002 



 

42 | P a g e  

 

4. 2004 

5. None of these 

Comprehension Ends 

 

116. The radius and height of right circular cone are in the ratio 7:9. If its volume is 

462 m3. Find the radius of the cone. 

1. 5 m 

2. 8 m 

3. 12 m 

4. 7 m 

5. None of these 

 

117. A takes 4 days to complete one-third of a job, B takes 3 days to complete one-

sixth of the same job and c takes 5 days to complete half the job. If all of them 

work together for 2 days and A & C quit, how long will it take B to complete the 

remaining job done. 

1. 8 days 

2. 8.1 days 

3. 10 days 

4. 9 days 

5. 9.4 days 

 

118. Vessel A contains milk and water in ratio 4:3 and Vessel B contains in the 

ratio of 7:2. In what proportion should they be mixed to get a mixture which 

contains milk and water in ratio of 3:2? 

1. 9:56 

2. 56:9 

3. 6:59 

4. 59:6 

5. None of these 

 

119. A merchant sells his good at 8% loss but weighs 900 grams instead of a kg 

weight. Find his real loss or gain percent. 

1. 2% loss 

2. 2
2

9
% gain 

3. 2% gain 

4. No loss no profit 

5. None of these 
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Comprehension Starts 

Study the following pie chart carefully and answer the questions that follow. 

 

Subject wise breakup of number of candidates who cleared the examination. 

 

 

120. What is the total number of candidates cleared the exam from commerce 

subject? 

1. 1956 

2. 2965 

3. 3945 

4. 9265 
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5. None of these 

 

121. What was the ratio between the number of candidates appeared in the exam 

from English subject and number of candidates cleared from Art subject 

respectively? 

1. 3094 : 813 

2. 4011 : 127 

3. 227 : 3039 

4. 117 : 223 

5. None of these 

 

122. The total number of candidates appeared in the exam from commerce and 

English subject was what percent of number of candidates appeared from Art 

subject? 

1. 100 

2. 150 

3. 120 

4. 90 

5. None of these 

 

123. Approximately what was the total number of candidates cleared from physics 

and Maths subject together? 

1. 3320 

2. 1791 

3. 2100 

4. 3400 

5. 3590 

 

124. For Physics subject, what was the difference between number of candidates 

who cleared the exam and number of candidates who appeared in the 

examination? 

1. 7821 

2. 6916 

3. 3264 

4. 4264 

5. None of these 
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125. Approximately what was the difference between the number of candidates 

who cleared the exam from Maths subject and number of candidates who cleared 

the exam from Art subject? 

1. 340 

2. 591 

3. 680 

4. 780 

5. 250 

Comprehension Ends 

 

Comprehension Starts 

Directions: Study the following information carefully to answer the questions that 

follow. 

There are two trains A and B. Both trains have four different types of coaches viz. 

general coaches, sleeper coaches, first class coaches and AC coaches. In train A, there 

are total 700 passengers. 

Train B has 30% more passengers than train A. 20% of the passengers of train A are 

in general conches. One-fourth of the total number of passengers of train A are in AC 

coaches. 23% of the passengers of train A are in sleeper class coaches. 

Remaining passengers of train A are in first class coaches. Total number of 

passengers in AC coaches in both the trains together is 480. 

30% of the number of passengers of train B is in sleeper class coaches. 10% of the 

total passengers of train B are in first class coaches. 

 

126. If cost of per ticket of first class coach ticket is Rs. 550, what total amount will 

be generated from first class coaches of train A? 

1. Rs. 1000080 

2. Rs. 1232000 

3. Rs. 123200 

4. Rs. 12320 

5. None of the above 

 

127. Total number of passengers in general class coaches in both the trains 

together is approximately what percentage of total number of passengers in train 

A? 

1. 35% 
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2. 54% 

3. 45% 

4. 38% 

5. 31% 

 

128. What is the difference between the number of passengers in the AC coaches of 

train A and total number of passengers in sleeper class coaches and first class 

coaches together of train B? 

1. 199 

2. 178 

3. 187 

4. 179 

5. None of these 

 

129. What is sum of the total number of passengers in the general coaches of train 

A and the AC coaches of train B together? 

1. 449 

2. 459 

3. 435 

4. 445 

5. None of these 

 

130. What is the ratio of the number of passengers in sleeper class coaches of train 

B to the number of passengers in first class coaches of train A? 

1. 13 : 7 

2. 7 : 13 

3. 39 : 32 

4. Data inadequate 

5. None of the above  

Comprehension Ends 

 

131. The internal and external diameters of a cylinder are 10 cm and 20 cm 

respectively. The height of the cylinder is 8 cm. the cost of painting 1 cm2 is Rs. 

0.08. Find the cost of painting the whole cylinder completely. 

1. Rs. 25.2 π 

2. Rs. 86.4 π 

3. Rs. 62.4 π 

4. Rs. 26.2 π 
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5. Rs. 31.2 π 

 

132. Two boys A and B start at the same time to ride from Delhi to Chandigarh, 60 

km away. A travels 4 km/hr slower than B. B reaches Chandigarh and at the same 

time turns back meeting A 12 km away from Chandigarh. The rate of A was: 

1. 4 km/hr 

2. 8 km/hr 

3. 12 km/hr 

4. 16 km/hr 

5. 10 Km/hr 

 

133. Aditi says to Parul that “I am five times as old as you were when I was as old as 

you are”. The sum of their present age is 72 years. Find the age of Aditi. 

1. 40 years 

2. 24 years 

3. 45 years 

4. 27 years 

5. 48 years 

 

134. What annual payment will discharge a debt of Rs. 7620 due in 3 years 

at 16
2

3
% p.a. compound interest? 

1. Rs. 2540 

2. Rs. 3430 

3. Rs. 3260 

4. Rs. 3380 

5. None of these 

 

135. One purse contains a Rs. 1 coin and three 50 p coins, a second purse contains 

two one rupees and four 50 p coins and a third purse contains three one rupee 

coins and two 50 p coin. If a coin is taken out of a purse selected at random, find 

the chance that it is a rupee. 

1. 53/180 

2. 71/180 

3. 1/90 

4. 61/180 

5. None of these 
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136. The percent profit earned by selling an article for Rs 1920 is equal to the 

percent loss incurred by selling the same article for Rs 1280. At what price should 

the article be sold to make 25% profit? 

1. Rs 2000 

2. Rs 2250 

3. Rs 1650 

4. Data inadequate 

5. None of these 

 

137. Three numbers a, b and c are such that, b is twice of a and thrice of c. If the 

average of the three numbers is 44, the largest number is 

1. 24 

2. 36 

3. 72 

4. 108 

5. 112 

 

138. A person buys 20 tickets for Rs. 440. Each first class ticket costs Rs. 25 and 

the second class ticket costs Rs. 20. What will another 20 tickets cost if the 

number of first class and second class tickets were interchanged? 

1. Rs. 440 

2. Rs. 460 

3. Rs. 500 

4. Rs. 490 

5. Rs. 520 

 

139. 8 kgs of tea at Rs. 4 per kg and 6 kgs of tea at Rs. 9 per kg are mixed together 

and the mixture is sold at a 15% profit. What is the selling price per kg of the 

mixture? 

1. Rs. 6.28 

2. Rs. 6.38 

3. Rs. 7.24 

4. Rs. 6.94 

5. Rs. 7.06 

 

140. The number of ways in which the letters of the word CAPSULE can be 

rearranged so that the even places are always occupied by consonants is 

1. 576 

2. 4C3 × (4!) 
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3. 2(4!) 

4. 288 

5. None of these 

 

Computer Knowledge 

141. The data is received in a raw form and it is organized in manner where some 

meaning can be obtained out of it. What is the organized meaningful form of a 

data known as? 

1. A process 

2. Software 

3. Storage 

4. Information 

5. None of these 

 

142. What is the process used by large business houses and retailers is for studying 

market trends? 

1. Data mining 

2. Data selection 

3. POS 

4. Data conversion 

5. None of these 

 

143. The ____, also called the web, contains billions of documents. 

1. World Wide Web 

2. HTTP 

3. Web portal 

4. Domain 

5. None of these 

 

144. HTML is similar to a 

1. Word Processing Language 

2. Screen editor 

3. Scripting language 

4. Search engine 

5. None of these 
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145. What is the term used to refer to the connection where devices are connected 

together for exchange of information or resources. 

1. Network 

2. Router 

3. Server 

4. Tunnel 

5. Pipeline 

 

146. What is the term used to refer to a small computer these days being used in 

shopping malls which is used to detect the price, discounts and any other 

specifications of a product? 

1. PSS 

2. POS 

3. Inventory 

4. Data mining 

5. None of these 

 

147. What is the peculiarity about IBM 7000? 

1. Belongs to second generation 

2. Uses VLSI 

3. Employs semi-conductor memory 

4. Has modular constructions 

5. None of these 

 

148. The process that deals with the technical and management issues of software 

development is which of the following mentioned options? 

1. Delivery process 

2. Control process 

3. Software process 

4. Testing process 

5. Monitoring process 

 

149. What is the main circuit board in the computer known as? 

1. Keyboard 

2. Print board 

3. Laser board 

4. Motherboard 

5. All 
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150. A unit of hardware used to monitor computer processing are called  

1. Client 

2. Console 

3. CPU 

4. Server 

5. None of these 

 

151. A process of carrying out commands is? 

1. Fetching 

2. Storing 

3. Decoding 

4. Executing 

5. None 

 

152. To specify margins in Word, the user has to select Page Setup option from the 

menu  

1. Edit 

2. Table 

3. Autocorrect 

4. Page Layout 

5. Format 

 

153. What does TSO stands for? 

1. Time Sharing Operation 

2. Time Sharing Option 

3. Time Support Option 

4. Time Synchronous Option 

5. None of these 

 

154. Which of the following is one reason for problems of data integrity? 

1. Data availability constraints 

2. Data inconsistency 

3. Security constraints 

4. Unauthorized access 

5. Data redundancy 
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155. What will happen when you press F12 in Microsoft word? 

1. Save As dialog box will open 

2. Save dialog box will open 

3. Open dialog box will open 

4. Close dialog box will open 

5. None of the above 

 

156. Which of the following is understood by the computer directly? 

1. Machine language 

2. Assembly language 

3. High level language 

4. Low level language 

5. None of these 

 

157. The booting process does the following with the OS. 

1. Portions of the operating system are copied from disk into memory 

2. Portions of the operating system are copied from memory onto disk 

3. Portions of the operating system are compiled 

4. Portions of the operating system are emulated 

5. None of these 

 

158. What is the term used for changing the contents of a document? 

1. Creating 

2. Editing 

3. Modifying 

4. Adjusting 

5. None of these 

 

159. When you print the picture on a paper after taking it using a camera, what is 

the print called? 

1. dat 

2. output 

3. input 

4. the process 

5. None of these 

 

160. Removable storage media consists of ______. 

1. Removable hard disk cartridges 
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2. (Magneto-optical) disk 

3. Flexible disks cartridges 

4. All of the above 

5. None of these 

General Awareness 

161. How much has Punjab National Bank raised in tranches from bonds to fund 

business expansion? 

1. Rs. 5000 crore 

2. Rs. 7000 crore 

3. Rs. 3000 crore 

4. Rs. 8000 crore 

5. Rs. 6000 crore 

 

162. Which bank has signed a memorandum of understanding (MoU) with MMTC 

for the sale of these coins? 

1. Bank of Baroda 

2. TNSC Bank 

3. UCO Bank 

4. Vijaya Bank 

5. Andhra Bank 

 

163. Name the person expelled by the Pakistan High Commission on espionage 

charges. 

1. Mohan Mishra 

2. Moreno de Souza 

3. Surjeet Singh 

4. Shankar Nag 

5. Devendra Bundela 

 

164. The RBI has permitted startups to raise $___ million in a financial year. 

1. 3 

2. 2 

3. 5 

4. 6 

5. 1 
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165. Which bank has launched its online money transfer service, ‘Money2India 

Europe’ in Sweden, Norway and Denmark? 

1. Axis 

2. HDFC 

3. ICICI 

4. OBC 

5. PNB 

 

166. On October 26 India signed three agreements with which country on issues 

pertaining to avoidance of double taxation, cooperation in the field of youth and 

sport affair and food safety cooperation? 

1. Australia 

2. Germany 

3. New Zealand 

4. Japan 

5. South Korea 

 

167. Ananthakrishna, the non-executive chairman of _____ Bank retired on 

October 26. 

1. Indian Overseas 

2. Allahabad 

3. Karnataka 

4. DBS 

5. RBL 

 

168. Who won the 2016 Man Booker Prize for his book, “The Sellout”? 

1. David Szalay 

2. Graeme Macrae Burnet 

3. David Means 

4. Paul Beatty 

5. Wyl Menmuir 

 

169. Sanjay Baweja, CFO of _____ resigned on October 26. 

1. TCS 

2. Amazon India 

3. Wells Fargo 

4. Capgemini 

5. None of the above 
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170. APPPL is a joint venture between Adani and 

1. ONGC 

2. GAIL 

3. HPCL 

4. Petronet 

5. None of the above 

 

171. The government has decided to sell ____ from its buffer stock through the 

National Commodity and Derivatives Exchange (NCDEX) to cool prices. 

1. Vankai 

2. Rice 

3. Soybean 

4. Wheat 

5. Chickpeas 

 

172. Which shipbuilding company built Indian Coast Guard Ships (ICGS) Aryaman 

and Atulya? 

1. Garden Reach Shipbuilders & Engineers 

2. Kattupalli Shipyard 

3. Praga Marine 

4. Reliance Defence and Engineering Ltd 

5. Cochin Shipyard Limited 

 

173. How many companies have been barred by the Securities and Exchange Board 

of India (SEBI) from accessing the capital market? 

1. 9 

2. 8 

3. 7 

4. 4 

5. 5 

 

174. Which financial institute has launched a Rs 60 crore ASPIRE fund to promote 

innovation, rural entrepreneurship and agri industry? 

1. SIDBI 

2. ECGC Limited 

3. IFCI Ltd 
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4. MUDRA Bank 

5. PFC 

 

175. Which bank has blocked over 6 lakh debit cards after a security breach? 

1. Axis 

2. SBI 

3. HDFC 

4. Yes 

5. KMB 

 

176. Which housing finance company will open its first initial public offering (IPO) 

to the public on October 25? 

1. Odisha Rural Housing & Development Corporation 

2. Housing and Urban Development Corporation 

3. LIC Housing Finance 

4. PNB Housing Finance Limited 

5. Delta Brac Housing Finance Corporation 

 

177. Name the typhoon which hit Philippines on October 16. 

1. Haima 

2. Alex 

3. Bret 

4. Doreen 

5. Sarika 

 

178. On October 14 the government has decided to use postal network for 

distribution of subsidized _____. 

1. Vegetables 

2. Fertilizer 

3. Kerosene 

4. Pulses 

5. Grains 

 

179. According to a new research a comet triggered the Paleocene-Eocene Thermal 

Maximum (PETM) ___ million years ago. 

1. 56 

2. 60 

3. 91 
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4. 82 

5. 49 

 

180. Which state has launched ‘Duck Boats’ to boost tourist footfall? 

1. Kerala 

2. Maharashtra 

3. Himachal Pradesh 

4. Tamil Nadu 

5. Goa 

 

181. India’s gold imports has declined by ____% to 270 tonnes from January to 

September. 

1. 51.98 

2. 58.96 

3. 55.67 

4. 54.62 

5. 50.71 

 

182. In which country is the Khan Research Laboratories (KRL) located? 

1. India 

2. Saudi Arabia 

3. Pakistan 

4. Malaysia 

5. Indonesia 

 

183. Which government agency has suggested that Railways work on cost 

optimisation measures and enhancing its non-fare revenue? 

1. NAC 

2. BIS 

3. CORE 

4. NDC 

5. NITI Aayog 

 

184. Which country is expecting India to ratify the Paris treaty by the end of the 

year? 

1. USA 

2. China 
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3. Japan 

4. Turkey 

5. None of the above 

 

185. On September 15, West Bengal Chief Minister Mamata Banerjee announced 

that it will provide around 25 acres of land in the Panagarh Industrial Park to 

which automobile company? 

1. Volvo 

2. BMW 

3. Ford 

4. Mercedes 

5. None of the above 

 

186. Banks stipule interest rates on loans and advances are based on what? 

1. Borrower’s experience 

2. Track record 

3. Credit rating 

4. None of these 

5. All of the above 

 

187. Financial Action Task Force has an office in which city in India? 

1. Mumbai 

2. Chennai 

3. Kolkata 

4. New Delhi 

5. None of the above 

 

188. “Aadhar” is the new name of what? 

1. PMRY 

2. NREGP 

3. UID 

4. None of these 

5. All of the above 

 

189. Which of the followings are salient features of Special Electronic Fund 

Transfer Scheme? 
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1. Same day inter-bank transfer of funds between accounts maintained in any of 

the participating branches. Only those branches are covered that have 

networking 

2. Settlement for inter-bank funds transfers takes place in Mumbai 

3. Scheme is available in over 2500 bank branches in 500 cities 

4. 3 SEFT settlement cycles on weekdays and 2 cycles on Saturday 

5. All of the above 

 

190. In which year RBI was nationalised?  

1. 1959 

2. 1947 

3. 1945 

4. 1949 

5. None of these 

 

191. In which of the following can an individual not open a bank account in?  

1. Regional Rural Bank 

2. RBI 

3. Scheduled Commercial Banks 

4. All of the above 

5. None of the above 

 

192. Which of the following is the most liquid measure of Money supply? 

1. M0 

2. M2 

3. M3 

4. M4 

5. All of these 

 

193. The duties of Central Bank is performed by which bank in India? 

1. Central Bank of India 

2. State Bank of India 

3. Reserve Bank of India 

4. Both (a) and (b), 

5. None of the above 
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194. What is the minimum size of an issue of Commercial Paper which can be 

issued in the multiples of 5 lakhs to a single investor? 

1. 5 lakh (face value) 

2. 2 crore 

3. 1 crore 

4. 7 crore 

5. None of the above 

 

195. What is a Commercial Paper? 

1. fully secured paper 

2. unsecured money market instrument 

3. partly-secured paper 

4. All of the above 

5. None of the above 

 

196. On whose recommendation was the Reserve Bank of India Act 1934 enacted? 

1. The Hilton Young Commission 

2. The Banking Commission, 1933 

3. The Rural Credit Survey Committee 

4. The James Raj Committee 

5. None of the above 

 

197. Which Act governs the minting of Rupee coins in India? 

1. Coinage Act, 1906 

2. Reserve Bank of India Act, 1934 

3. Banking Regulation Act, 1949 

4. Currency Act, 1902 

5. None of the above 

 

198. Who has the final authority to decide the design, form and material of bank 

notes? 

1. Central Government 

2. Reserve Bank of India 

3. Indian Banks' Association 

4. Note issuing Authority of India 

5. None of the above 

 

199. When was the system of decimal coinage introduced in India? 
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1. 15th August, 1947 

2. 26th January, 1950 

3. 1st April, 1957 

4. 26th Jan 1983 

5. None of the above 

 

200. To what does the Banking Regulation Act of 1949 does not hold valid for? 

1. Nationalized banks 

2. State Bank of India and its subsidiaries 

3. Foreign banks having branches in India 

4. Primary agricultural societies and co-operative land mortgage banks 

5. None of the above 


